EANZRAROBEBERT — 2 N—XIBISH—F 2017510848 (k) 14EEE1H

mﬁﬂllﬂﬂj‘}b7iob) HPB1 5% 3mL ‘ (x42] w ‘ [eEmm]l - | & (@) 1400M &=
[AE4£] 1 7% :900,000" ~ 23%&:216,000  ~ 33#&:108,000 @ . 47#&:72,000 @ 5 & :54,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
KEE :29. 42— . — FEHE (BE
ilglg| ror17O- o6 ZH 1(2_9)5 3-4-2-2 | 39.1 2 ig;s o
L:FeTrA4T7 B:TV=HF4X ppie ]
S, s T2 :29. -1-1- . = FAMEE ()
21810 IA > T1—"JF as 4 54.0 (17/29975) 1111 40.2 8 tg? ZF#Aﬁg
RHIRT4TFZX B:N—=-ULRTL Wi Eis
< [IEE)EZN : -0-3- - RFEE (BE
3l1]q|7=rvrrm i o6 L 1.(350>.3 2-2-3-3 | 40.1 5 (5_164) i
LN=v774 B:LT1E-F He xFH
R HEHRMNE : —6-8- — #FFH#E (EM)
4 MPEETA i 4 LR (11.310/.“5) 7-6-8-7 | 39.9 6 (4_359) AL
R:T5y U84 F B:dy RESTRI— EE R
S 4 6 | AKX 1:30.8 8-8-7-5 |40.0| — 8 442 | RFIEE (BEB)
5178 TN TR 56.0 (11/2) (+6) SRR A
R TAANAN BT w5 J—HrTr—LA
R R R -30. A . — PRER5A (EE)
617l 7| vntnnF=s 4 8 i 1(13/02)9 6-7-4-6 | 40.3 9 (5+321) s
Rid— W RKFPYa—Ib B:T7IVaq1Us BT 7 — L
= > 4 5 | HEFE 1:31.2 9-9-6-8 |40.4| — 1 479 | EHER (FEfH)
T2 | 7T TYR 56.0 (1 1/2) “2) (R) J P N
R:TA—FAFAF =YL BedHFFIO iy i
o K & ABB : -3-5- — BT (FE)
8 3| wHU—F o7 o 1(.33/14)3 4-3-5-4 | 40.8 4 <4+912) okt
RiFlLnzwy Tt B:F1X2MH-0 21455
= KA EBERTR :31. —-5-9- . — BERSE (Fh)
9 6|7V /FatE7-"V i 530 1(13/12>4 559710 | 40.8 ! f(; %xﬁﬂ
2N F¥1-)b B:vrHULvY B R
s ; A 1:32.0 10-10-10-9 | 40.4 | — 10 | 460 |FEFIFE (EH)
10/5|5|¥7/VTF3 56.0 (31/2) 7 | B F7-—2bEVa>
R:F17>4) B:O4YILs1> HH B
® 1—F—@EBIERL
1T=7r= 10,1,9,3,6,7,4,8,2,5
20—F— 10,1,3,9,6,4,7,8,2,5
== 10,9,1,7,3,2,8,4,6,5
40—+ — 10,9,1,3,8,7,4,2,5,6
[ N5
B 9 360M 714K 9-10 410 e E 8-8 1,1708 JEE 1-9-10 2,160/
B B 9 120M 1-9 320M B = 9-10 980M EE 9-10-1 10,930
10 120M 1-10 700M B H 9-10 2,010M
1 210

ABICOVWTRDTEEERROODE. TR LIV,



